Exhibit 6

Water and Sewer Rates (4,500 Gallons per Month)

Projected Monthly Usage of 4,500 Gallons							
	Unit Price	Quantity	Total/Month	Total/Year	New Residents	New Revenue	New Revenue
Refuse	\$16.72	1	\$16.72	\$200.64	750	\$150,480.00	Utilty Only
Stormwater Usage	\$3.00	1	\$3.00	\$36.00	750	\$27,000.00	\$27,000.00
Water Usage	\$3.74	4.5	\$16.83	\$201.96	750	\$151,470.00	\$151,470.00
Water Tank	\$0.26	4.5	\$1.17	\$14.04	750	\$10,530.00	\$10,530.00
Sewer Usage	\$7.61	4.5	\$34.25	\$410.94	750	\$308,205.00	\$308,205.00
Infiltration & Inflow (I&I)	\$0.34	4.5	\$1.53	\$18.36	750	\$13,770.00	\$13,770.00
WRRF Debt Service	\$7.86	4.5	\$35.37	\$424.44	750	\$318,330.00	\$318,330.00
Quantity is per 1,000 Gallo	ons		\$108.87	\$1,306.38	750	\$979,785.00	\$829,305.00
Water Capacity Fee				\$4,230.00	750	\$3,172,500.00	\$3,172,500.00
Wastewater Capacity Fee				\$5,550.00	750	\$4,162,500.00	\$4,162,500.00







VILLAGE GOVERNMENT VILLAGE DEPARTMENTS V SERVICES V COMMUNITY & LINKS HOW DO I ...? V **ASHVILLE'S** Phase One South Metershed Improvement Project Water and Wastewater Infrastructure Grant Project more page contain the Infiltration & Inflow (I & I) Reduction American Rescue Plan Act Project (ARAP) Application for Funding the development of a South Watershed Project in the Village of Ashville. The project will address Infiltration & Covil Covil Inflow (I $\ensuremath{\mathbb{S}}$ I). By clicking on the banner to the Eshville, Oh right you will access project information.

The Water Departr ary functions. First to process ra approved by A M the OhioEPA. Read More

Online

Utilities & Billing	Contact Us
Water James Welsh	Contact Us
Water Ordinance	Water can be as low as \$4.00 (\$8.00) per 1,000 See rate structure below

Gallons/1,000	Inside Village	Tank	Total	Outside Village Rate
	Rate	Fee	Rate	200%
Over 1,000 (K)	\$3.80	26⊄	\$4.06	\$7.48+ tank fee of 52¢ = \$8.12

For Building and Home Development

Capacity Fee	Size	Amount	Water Fire	
	3/4	\$ 4,320	\$ 2,160	

The Wastewater Department serves two primary functions. First to colle ess the sewage that is collected in a manner 🛛 🔒 😒

approved by the OhioEPA. Read More

Utilities & Billing	Contact Us
Wastewater	Contact Us
Wastewater Ordinance	Wastewater can be as low as \$15.81 (\$31.62) per 1,000 See rate structure below

The wastewater facility is located at 3219 State Route 752, Ashville, Ohio 43103

Gallons/1,000	Inside Village Rate	181	Debt Service	Total Rate	Outside Village Rate
Over 1,000 (K)	\$7.72	34¢	\$7.86	\$15.92	\$31.84 (includes Sewer-\$15.44, I & I-68¢ & debt service \$15.72)

For Building and Home Development

Capacity Fee Size Amount 3/4 \$ 5,550

Page	1	of 5	
rage	T	01 5	

Exhibit 6 Continued



Relation ASSAS years

ORDINANCE 2009 - 03

THIS IS AN ORDINANCE AUTHORIZING THE CHANGE IN UTILITY RATES IN THE VILLAGE OF ASHVILLE, AND DECLARING AN EMERGENCY.

WHEREAS, the Council of the Village of Ashville, Ohio authorizes by ordinance the rates charged for the refuse utility of the Village; and

WHEREAS, it becomes necessary on occasion to adjust those rates.

WHEREAS, the cost of providing utility services will be linked to the Consumer Price Index and will increase by that percentage at the conclusion of a year to be added on the next full-month.

WHEREAS, this rate increase will allow revenue to keep pace with expenses.

NOW, AND HEREAFTER BE IT ORDAINED BY THE VILLAGE COUNCIL, VILLAGE OF ASHVILLE, PICKAWAY COUNTY, STATE OF OHIO THAT:

SECTION ONE

The rate structure for water and sewer charges found in Chapter 929. Water, Sewer, and Stormwater Rates will be adjusted annually based upon the Consumer Price Index.

SECTION TWO

This Utility Rate change will become effective during the first full month after the December Consumer Price Index is announced and annualized. That rate will be communicated to the residence before it becomes effective.

SECTION THREE

That this ordinance is hereby declared to be an emergency measure necessary for the preservation of the public peace, health and safety of the Village and its inhabitants for the reason that there exists an imperative necessity for the earliest publication and distribution of rates authorized by this ordinance to the officials and residents of the Village, so as to facilitate administration, daily operation and avoid practical and legal entanglements, and shall go into full force and effect immediately upon its passage by Council.

517.2004

PASSED THIS 17Wth DAY OF FEBRUARY, 2009

ATTEST: Barbara J. Gilbert, Clork/Fiscal Officer APPROVED:

inter P Charles K. Wise, Mayor

176809 Date

Date

Date of Production: January 16, 2009 Revised Date: Review Date:

Exhibit 6 Continued



ORDINANCE 2010 - 07 Ashville, Ohio

AN ORDINANCE TO AMEND ORDINANCE 929.02 (2009-12) TO CHANGE THE CHARGE FOR WATER SERVICES IN THE VILLAGE OF ASHVILLE. THIS CHANGE WILL NOT CONFLICT WITH ANY OHIO REVISED CODE (ORC) LIMITATIONS AND DECLARING AN EMERGENCY.

WHEREAS, the Council of the Village of Ashville, Ohio authorizes by ordinance the rate of charge for utilities within and/or without the Village; and

WHEREAS, it becomes necessary on occasion to adjust those charges.

NOW, AND HEREAFTER BE IT ORDAINED BY THE VILLAGE COUNCIL, VILLAGE OF ASHVILLE, PICKAWAY COUNTY, STATE OF OHIO THAT:

SECTION ONE

That the following rate structure will be used as a replacement for Chapter 929.02 Water:

The rate increase of \$0.26 per thousand gallons of water will be used to pay the cost of placing our two Village of Ashville water towers on a maintenance program.

Water Service					
Per 1000 Gallons	Current Rate	Inside Village New Rate	Outside Village New Rate		
1-24	\$3.14	\$3.40	\$5.10		
25-49	\$2.90	\$3.16	\$4.74		
50-74	\$2.68	\$2.94	\$4.41		
75-99	\$2.47	\$2.73	\$4.10		
100-over	\$2.42	\$2.68	\$4.02		

SECTION TWO

This Ordinance deals only with usage of water. All other sections of Chapter 929 Water and Sewer Rates remain in affect and therefore fully enforceable.

SECTION THREE

That this Ordinance is hereby declared to be an emergency ordinance and necessary for the immediate preservation of the peace, health, safety and general welfare of the citizens of the Village of Ashville; therefore this ordinance shall take effect immediately upon its passage.

PASSED THIS 5 DAY OF NURMER 2010

ATTEST:

BARBARA J. GILBERT, CLERK/FISCAL OFFICER APPROVED:

anta

CHARLES K. WISE, MAYOR

DATE

11-15-10

Date of Production: October 13, 2010 Revised Date: Review Date:



Exhibit 6 Continued

www.ashvilléohio.gov



ORDINANCE 2020-05

OF THE VILLAGE OF ASHVILLE

AN ORDINANCE AMENDING ORDINANCE 2019-10, 2018-08, 2017-09, 2016-07, 2014-04, 2015-04 and 929.02 (96-13, 2006-06, 2009-03, 2010-07) FOR A DEBT SERVICE CHARGE FOR THE WATER RESOURCE RECOVERY FACILITY EXPANSION PROJECT IN COMPLIANCE WITH OHIOEPA FINDINGS AND ORDERS FOR THE VILLAGE OF ASHVILLE, AND TO ALTER THE CHARGE FOR WASTEWATER IN THE VILLAGE OF ASHVILLE. THIS AMENDED ORDINANCE WILL NOT CONFLICT WITH THE OHIO REVISED CODE (ORC) LIMITATIONS AND DECLARING AN EMERGENCY.

WHEREAS, the Council of the Village of Ashville, Ohio authorizes by ordinance the rates charged for the wastewater utility; and

WHEREAS, it becomes necessary on occasion to adjust those rates.

WHEREAS, this charge will for the collection of funds for the Water Resource Recovery Facility Debt Service Principal and Interest Payments.

Now, AND HEREAFTER BE IT ORDAINED BY THE VILLAGE COUNCIL, VILLAGE OF ASHVILLE, PICKAWAY COUNTY, STATE OF OHIO THAT: SECTION ONE - That the following rate structure will be added to Chapter 929.05 Sewer Rates:

Other Debt Proceeds (Sewer Plant Expansion)						
Total Loan	# of Number of Customers Annual Cost Cost per Month Per Custome					
\$16,723,663	30	1435	\$570,870	\$ 7.86/1000 Gallons*		

The Revenue Code will be 5702-971-5003 Sewer Improvement (Debt Service)

* Debt Service was 69¢ in 2014; \$1.29 in 2015; \$1.95 in 2016; \$2.63 in 2017; \$4.03 in 2018; in 2019 \$2.03 The 2020 Increase is \$1.80/1,000 Gallons

SECTION TWO - The new charge in Section One is the result of a mandated OhioEPA Improvement at the Village of Ashville Wastewater Facility, see "Director's Final Findings and Orders".

SECTION THREE - This Debt Proceeds increase will be based upon the payments to Ohio Public Works Commission (OPWC), Ohio Water Development Authority (OWDA), and Division of Environmental and Financial Assistance (DEFA). This will be communicated in the newsletter one month prior to implementation of increase.

SECTION FOUR - That this ordinance is hereby declared to be an emergency measure necessary for the preservation of the public peace, health and safety of the Municipality and its inhabitants for the reason that there exists an imperative necessity for the earliest publication and distribution of current Replacement Pages to the officials and residents of the Municipality, so as to facilitate administration, daily operation and avoid practical and legal entanglements, and shall go into full force and effect immediately upon its passage by Council.

Offered by: Nelson R. Embrey

Seconded by: Roger L. Clark

Upon roll call on the adoption of the ordinance, the vote was as follow:

Yes No Excused Absence Yes No Roger L. Clark ⊠ Nelson R. Embrey ⊠ Randy S. Loveless ⊠ □ □ R. David Rainey ⊠ □ Tracie N. Sorvillo ⊠ □ PASSED JHJS 20th DAY OF JULY, 2020

ATTEST:

April D. Grube, Clerk-Fiscal Officer APPROVED:

Charles K. Wise, Mayor

CERTIFICATE OF RECORDING OFFICER

I, the undersigned, hereby certify, that the foregoing is a true and correct

copy of the ordinance adopted by the Village of Ashville Council held on 20th

day of July 2020, and that I am duly authorized to execute this certificate.

Prepared: 06/18/2020Revised Date:

Review Date:

1 of 1 | Page

Clerk-Fiscal Officer (TITLE)



(Original signature of April D. Grube)